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17 • Aqueous Equilibria 
1 7 . 4  S o l u b i l i t y  E q u i l i b r i a  

 
E x a m p l e  # 1  
 
The Ksp for CaF2 is 3.9 x 10-11 at 25°C.  Assuming that CaF2 dissociates completely upon dissolving and that 
there are no other important Equilibria affecting its solubility, calculate the solubility of CaF2 in grams per liter 
 
 
     

    
    
    

 
 
 
 
 
 
 
 
 
 
How many moles can dissolve in 0.50L of water at 25°C? 
 
 
 
 
 
 
 
 
 
 
 
How many moles can dissolve in 0.50L of 0.20 M CaSO4 at 25°C? 
 
 
 
 
     

    
    
    

 
 
 
 
 
 
 
 
 
 



P r a c t i c e  P r o b l e m  
 
The Ksp for Cu(N3)2 (Copper II Azide) is 6.3 x 10-10.  What is the solubility of Cu(N3)2 in water in grams per 
liter? 
 
 
     

    
    
    

 
 
 
 
 
 
 
 
 
 
 
 
How many moles can dissolve in 0.50L of water at 25°C? 
 
 
 
 
 
 
 
 
 
 
 
How many moles can dissolve in 0.50L of 0.10 M CuNO3 at 25°C? 
 
 
 
 
     

    
    
    

 
 
 
 
 
 
 
 
 
 
 
 
 
 


